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1.-SOLVE THE PROBLEMS AND CHOOSE THE CORRECT OPTION.
a) NINE HUNDRED FIFTY MINUS FIVE HUNDRED THIRTEEN IS:

A: It's four hundred two
B: It's three hundred eighty five

C: It's four hundred thirty seven

A: it's four hundred thirty six
B: it's four hundred sixty two

C: it's four hundred seventy two

c) THIRTY EIGHT TIMES SEVENTEEN IS:

A: It's two hundred sixty six
B: It's seven hundred fourteen

C: It's six hundred forty six
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: b) THREE HUNDRED TWENTY TWO PLUS ONE HUNDRED FORTY IS: :
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4 d) SEVEN HUNDRED EIGHTY FOUR DIVIDED BY EIGHT IS:

A: it's ninety eight
B: it's zero

C: it's eight hundred fifty five

2.- WRITE THE QUANTITIES IN ENGLISH.

A: 437

. 219

C: 348

D: 513

%
4
&
4
H
%
4
“
%
H
%
%
4
]
%
4
4
&
#
4
&
4
/
4
H
%
%
4
7
&
%
@
]
|
4
H
%
¥
!
%
H
4
A
%
]
&
G

L & & 2 2 £ £ £ £ £ 2 £ £ £ £ 2 2 £ 2 £ £ £ £ £ £ £ £ £ & 2 2 £ & 2 2 £ 2 £ £ & £ £ £ L 2 2
w

4
AR AR AR AR AR R AL
tsLIVEWORKSHEETS



